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Therefore, by Rouché s theorem, we have that p arol ptg have the

Same number of ternS in D.
We Enow +hat f,(%),, S2? hay & ZEMD ot 2=0 with mul'/zp/r‘cfff/ 3.

TWJC, Wt C.@rﬁl.“de W+ F(z)fﬂ/-z): {‘(i): 52_34 Ci+, ;‘\@J— -H'm‘e
roets In [D I



'
continued .
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Let a be a real
naw beg Suppose f: €>C 15 a holomorphie panchon hat
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[ Corhnued.. _
@ Let ) = iz=re'°€£:0<r<2 and 0<@ < 31/2 3% Exphcitly descabe a
one-to-one holomorphic map fm £L onte the unt disk D.
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Let £ be a holemerphe funetron b. 5 ;
' Fhad £ 52 salbant o1 on D. Suppose I(2)] & [#(22)] hor all 2€D. Show

Pf: Choose 0<r<¢) ard let 2B, () =fzed l2lzr<i}
f"rm 10 Since £ 15 holomorphic on D, by 1he praximum
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Letting 21, we get that £ 5 conStant in .
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@ (1) Let y- fred:|t=1% be +he umt arle, onented in the counter-cockuwsy
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1eA. ..
”f;f’“‘er:}“; 4\('2) i€ helomorphic on the Puna—uy@{ unit disk DN10} and that +the
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Let h(2)=(g°#)(2): D\{o) — D. Hence

Then h 1§ QM(S}'hc on D\{0% and boundw( on ’D\%O%; £8 B0

¢ can exterel h +o be
a removable singulanty of (). T%i/(}}m at 2=0.

By the open mappirg thesrem, h(0) € Int (D). So |
let h(0)=w € D. Then (9 o £)(0) = g (£(0Y) = w. Since g I5 @nfirmal

’ |
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e el vud s e g e b
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Hencé YA CX{'U\J@( 4o be alm/yfr'c at 2=0.




